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INSTRUCTIONS TO THE CANDIDATES

1. The admission to the examination is provisional.
In the event of any information fumished by the
candidate found false/incorrect/incomplete at
any stage, the candidature shall be rejected.

2. Darken the circles in the OMR Answer-Sheet
completely with Black / Blue ball point pen
only. Partial darkening shall not be evaluated.

3. Darkening two or more circles completely /
partially shall not be evaluated.

4. Changing the darkened circle in any manner
putting ‘X" mark / using white fluid / erasing
by rubber / blade etc. shall not be evaluated.

5. This question booklet shall not be opened
until instructed, Write your Roll No. correctly
in this booklet as well as in the OMR Answer-
Sheet.

6. The candidates should carefully check the
No. of Printed Pages, Questions and their
Serial No. In case of any discrepancy found,
exchange the defective one and collect
another correct one from the invigilator within
5 (five) minutes and thereafter no complaint
shall be entertained.

7. The examination shall be conducted as per the
Odisha Conduct of Examination Act, 1988.
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Each question has four alternatives. Choose the correct answer from
among them and darken the appropriate circle completely in the
OMR Sheet with Blue / Black ball point pen only.
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| CHILD DEVELOPMENT & PEDAGOGY |

1. 6Ql8@ 3RI99 AGAI FeqIe cae
aAE FI9I FNUAIFARES ?

(A) eefias
(B) g9
(C) eflge
(D) eacais ang
2. GIRYS AUQ 6RNF YR EANITE
UGG ged ?
(A) 2Ige aenIae 991
(B) Qaeaieq afaae ge1

(C) fFaId qae
(D) @Fgawe aqIad

3. 9ROIR FINe IME @ace 94 Qgmie
IS4 9Pl SR AF99FeS I
@4 gal?

(A) 6agIRQ

(B) 2€eIoR
(C) @icar
(D) 621FNQ

()

1. Measure of scholastic development

can be done using which of the
following test 7

(A) Essay type

(B) Objective

(C) Oral

(D) All of these

- Which of the following is not a non-testing

technigque 7

(A) Interest inventory
(B) Adjustment inventory
(C) Rating scale

(D) Work skill test

. What was the name of the German

psychologist, who conducted his
experiment on learning over a
Chimpanzee named as Sultan ?
(A) Gestalt

(B) Thorndike

(C) Watson

(D) Kohler

(Continued)
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Gd8 MuQ 6eed I ded
geeien daicl 6359 oaIn 9@ 65aay
768 ?

(A) 9% 2RI 6 19! AAFE 26T
(B) aaueh Gow mea Fdig @Gaid

(C) d9ea avcalasa dald! 644!
@86a AFa &g

(D) «2i 9@ g< ASIAG 9 ! 26T

REF 99 907 QAQ F76s 608 cFaaY
g6 98 69qIq eQiRa ?

(A) Qa6

(B) fawel

(C) gragrae!

(D) ©Q6aI8 aNg

a4 219 998 9a:
RIS 909, S99 6 Qg8 Ga6s
geed 9ie agel

2I6% |
(A) TR

(B) adeed

(C) adqe

(D) SEAUIHS

d96 Free QfQ ged ae gsa asiel
CLIEE6R6R QLITE 6TINEIN, (I F'E

QRIAN ?
(A) dad 635
(B) dae 6TL
(C) G484 6R0@
(D) 989 &aRe

(3)
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4. Which of the following is not a

characteristics of child centred approach
in teaching leaming process ?

(A) Itis joyful and game oriented
(B) Learner discovers knowledge

(C) With the teacher's effort learner
becomes active inside the
classroom

(D) Itis a prescribed approach

. To frame a model question, which

characteristic should be taken care of ?
(A) Clarity

(B) Specificity

(C) Relevancy

(D} All of these

. Fill'in the blank :

is/are the gateways to
establish, develop and extension of
knowledge.

(A) School

-(B) Environment

(C) Family
(D) Senses

. When a child is motivated to accept

responsibility for learning is called
(A) Learner centred
(B) Teacher centred
(C) Leaming centred

(D) Book centred
(Continued)
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8. G 691 9RINQ S84 RAKad FIET ?

(A) 8
(B)
(©) 84 g
(D) @qere

9. 37N 699 QIGR IR ANV FILGIQ
ARG @RI 7

(A) 9088 A0
(B) &€lea gqagd/ao9
(C) SRAQIGIT AIRde 29l

(D) eacae ang

10. 6F16Q GANIRRIR IYE @I CRRERAIR

QRIS AGAINQ @' QRIAN ?
(A) ag

(B) Q4gel

(C) AR ¢

(D) sTuel

11. 2g6RaR JNITIRR FFR ARG QUAN ?

(A) G 69 9@
(B) @ eq 26a]
(C) ©.% 6a8

(D) 6gf aIg!

(4)

10.

1.
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Graphs are categorised under which

' ials ?
group of learning materials *

(A) Visual

(B) Audio
(C) Audiovisual
(D) Collected

Which of the following is a factor
affecting reliability of a test ?

(A) The wording of the questions

(B) The physical setting

(C) The respondent’s mood
(D) All of the above

The measure of the spread or variability
of scores in a data is called as

(A) Norms
(B) Reliability

., (C) Standard deviation

(D) Validity

Who is the father of micro-teaching ?

(A) B. K. Passi
(B) D.W. Allen
(C) D.D. Tiwari
(D) Prem Chhabra

(Continued)
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12. 609 ARYQEQ CRGIIRAING 6BG6A
Q¢ G AIPER LERRRIT IR FO G0
@AZER ?

(A) Q@MW
(B) exiemed
(C) ¥e@ R
(D) gFa

13. QA2 AGER, “FRAICI" 6LLE Agy

ISR IF TLNR 2GR ?
(A) zIRealq

(B) e
(C) caia She
(D) g YD

14. QRAEINGIA GRYILS TIR &4 GaI6A 99

ARNBE GO FRYER ?
(A) SI899q

(B) Qmeae

(C) oxeq

(D) Qee

15. CORFRR FRYIGRR EREY X6 ?

(A) @6 QENIae SAIKS 89 *aad

(B) QIO 68960 ATLGIA VR FAAE
@0QIg

(C) &84 aged faad @8I

(D) @se agdy fda *daig

(5)
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12. Which psychologist coined the terms

13.

14.

15‘

“Storms and Stress” in Adolescence ?
(A) Clark Hull

(B) Kohlberg

(C) Stanley Hall

(D) Bruner

According to whom, “value” in human
life is a strong interest of human
personality ?

(A) Allport
(B) Pluto

(C) Josh Billings
(D) Mack Claski

Who developed creativity test for the
first time ?

(A) Travers
(B) Guilford
(C) Torrance
(D) Paina

What is the purpose of formative
evaluation ?

(A) Decision of what to measure
(B) To assess achievement at the end
of term

To assess the progress of
learning

To find out learning difficulties
(Continued)
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16. Jaidia d96 TRTRY AIGYR ANBEG
@€ QRIAIN ?

(A) QOGT aa1ad
(B) 9% ame

(C) =zReas 9IS
(D) 9EREIRe! OQI8E

17. 25, 29, 25, 32, 24 B X@ ARG 27

ER6M, Fl1RIF 696 689 ?
(A) 32
|) 27
(C) 26
(D) 25

99 SANISFIA AIRIAIR B ATAe AaIFER
43 10 6260, F1IFl 6RES 68S?

18.

(A) 1.5
(B) 5.3
(C) 16
(D) 6

Fou g 6odE deia gaaIa 1@ FaR
g% ?

(A) QAaIRel

(B) uQe@ae!

(C) <G gEaT

(D) geMIEed!

19.

(6)

16.

17.

18.

19.

prepp

Your Persenal Exams Guide

[ OTET - P-l

Test that measures |learning outcome
of students is

(A) Achievement test

(B) Intelligence test

(C) Aptitude test

(D) Creativity test

If mean of 25, 29, 25, 32, 24 and x is
27, then what will be the median 7
(A) 32

(B) 27

+(C) 26

(D) 25

If mean and mode of a data are 4 and 10
respectively, what will be its median 7

(A) 1.5
(B) 5.3
(C) 16
(D) 6

Which of the following is not a principle
of development ?

(A) Uniformity
(B) Continuity

* (C) Individual difference

(D) Predictability
(Continued)
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20. Q619 604 QIBNT dREY ] @
RO S9N ?
(A) 29ARe!
(B) ena
(C) ague
(D) QTGS QERS

699 997 1@ 9RI9Ea S430I Age6a
QAN 26T ?

21.

(A) 9998 0Q1AER F4I0! A4S 26T
(B) 9 SIRIQ KNG QaRaNg

(C) 991 RIFIA BINIA ATCE GRS ORIR
Qan

(D) SgIG! AL 6T6R CRUGI ZRYQ 629

qeRINR 800 6aR 63E8Y eRIg
ZOYIGY ARICE TBR 9FAI 0IQ 8]
Q2 ?

(A) @aQed
(B) eriEas!

(C) aQrio!
(D) QTS AN

EO6O6RER §66 G8e NITINEE AR
Faice 08d, 394 Il 6 6Flae fa 903,
QIRIg '€ QUIAIN ?

(A) 8R4 69EQ

(B) Gmieh 6389

() @ae63ga

(D) 6R6dT 6<

7
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20. Which of the following factors has least

21.

effect on learning ?
(A) Fatigue

(B) Age

(C) lliness

(D) Gender difference

Which of the following statement about
reliability of a test is correct 7

(A) Reliability is fixed for a given test
(B) It varies from sample to sample

(C) It is not affected by the size of the
sample

(D) High reliability ensures high
validity

Which characteristic of creative
thinking differs it from other general
thinking process ?

(A} Divergence
(B) Originality

(C) Fluency
(D) All of these

When a teacher decides teaching
method, leaming activities and
techniques for the students is known as

(A) Leaming centric
(B) Leamer centric
(C) Teacher centric
(D) None of these

(Continued)
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24. G99 696 9RF a8 cefe 0 a9 0]
2166 ?
9% RSINING 6ANIFER GF AH6R

2EROR 6 a6 AU AR BGAS
cReEalrd

(A)

(B) Saew F6W8 QIR 2604l @RRaN

(C) QesaIgIelq FQAIle afarg

(D) SRIEHa 909 R 6T

25. TFR CRIQ 69WT dadg JRIRe QBRI

9181 Qe 99 10 gew?
(A) BRI6aIG

(B) sgedQiq

(C) @

(D) ang

0f 6g416Q 1P ORTER FANR AL
QOER OKY69E0 26T 7

(A) aeiGe dal Idiga
(B) amiae avde dee
(C) 9& 6T@IeQ LI 0]

(D) QIR AN 9]

(8)

24.

26.
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statement is

ih of the following
Wi er centered

correct in case of learn

approach 7 |
(A) Allows students to interact with
their teams through discussion and

learning activities

(B) Passively waiting for teacher’s
instruction

(C) Collaboration is discouraged

(D) Does not give importance to
student’s voice

Which of the following is not a learner
related factor affecting learning ?

(A) Attention
(B) Motivation
(C) Goals

(D) Communication

In lower classes, play-way method of
teaching is based on

(A) Physical education programme
(B) Theories of methods of teaching

(C) Psychological principles of growth
and development

(D) Sociological pPrinciples of teaching
(Continued)
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27. 9% SENISW™R aad (variance) 196
ER6M, FIRG SPIT 6960 681 ?
(A) +14
(B) 14
(C) 96
(D) 98

“PRA0 S99 94, 98N 99 ARR
org 9669, AIZAIR AATe §aQ
2ASAISE! B1F 1”492 66 2T
qaica gwi ?

(A) eREg

(B) &=I0I@

(C) auIga

(D) Qosad oy

28.

‘6PN 696 geIan S948 AINg) 26T ?
(A) QgIgeR

(B) gedq

(C) gemae

(D) 6&1ade gew

29.

JaIpea ANEe U0QT @R
QU6 CRQ1PE ?
(A) Q@I 2R S84

(B) Qo%l/ oen afigen Sae
(C) agRE QU6R ARIGE J86

(D) 78888

(9)

27.

28.

29.

i
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The variance of a set of data is 196, then
the standard deviation of the data is

(A) £14

(B) 14

(C) 96

(D) 98

“The education of the disabled children
should be an inseparable part of the
education system for which integrated
programme is necessary.” This

was the recommendation of which
commission ?

(A) Mudaliar
(B) Kothari
(C) Radhakrishnan
(D) Sergent Report

Which type of teaching aid is a ‘Model’' ?
(A) Dimensional

(B) Display

(C) Projected

(D) None of these

Social constructivism in teaching
focuses on

(A) Examination oriented leaming
(B) Information oriented leaming
(C) Experiential leaming

(D) Passive leamning

(Continued)
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agel 6 a9l Iae e d94 UeRIR
RUEAS 6R6T 6291 989 ?

(A) QIR ERINE
(B) fI696QIR QaIw
(C) sa@e e9r
(D) <396 98

606% JR46a AIPTR GEIRIA g6ea
aABHS ?

(A) 2809

(B) 69168

(C) QGuss!Anm

(D) a1eq s

GEqI0 696 QFR 28 ‘UQERal ?

(A) eIg 6ea)
(B) &Y AN
(C) oIy age
(D) 2Ig SRS

‘G6R ARIRSI - QIR BEl ¥4 ?
(A) zCUQY @GR

(B) agaIe @b 9%

(C) gdea eaal

(D) &igig ORa!

6QUE P 2IONEIEE TReER cTINEER
c12) 384 g6€ ?

(A) G91Q B8y 6A9R DR LS
(B) gQe0q aRIR gode

(C) QRS SRIa A8 @Iy

(D) QaQy AARIS S8

(10)

36.

3r7.

(B)

FRER el QsR8Y a7
(A) RHIeT T3S
Faie @Qal

QUeIR @9a
QaeaIs 4n9

(C)
(D)

2 BQ 2y 9094 J6Q Zem AR
Qede dada @@ 94 ?

(A) &gl

(B) smIagd

(C) 9q g9

(D) G'g4

RER AIFIY CRAYBE AGY 9168 §A 8
geasd

4g6a 696 696 SRIA T8 YeRa aaIde?
(A) oFl, aie &g

(B) @4l a®iq 0%, FgaRigee %,
gedege

@R, ORI 5%, GRS

Q9Egee 52, eml

(C)
(D)

896 960?98 efiel aid e 6o
a96aa ged @bl 2980 ?

(A) BQEIS goRI Gee

(B) 799 seqeq 5ag)

©C) ueeRe 9oy gealq

(D) 39 6989 39| quag

(Continued)
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40. SRR 2eagsa Tfeds
991 GRS 6NN |
(A) QiIoige
(B) odsea
(C) aa4
(D) e
41. Qg IMET AAGE KRS gIAIG K&
QRIANg ?
(A) SMQQ
(B) zge
(C) <IuIQa
(D) SN

GF2 I8l AGAICR 696 490 g ?
(A) S6QIZYQ

(B) ceonye

(C) ooye

(D) oo

FARGS MG CRET AINIGR 8 6799
QEIeF A2 ANFEC 6% ?

(A) caaq aIgd

(B) @ISOIQ &9

(C) 49I9Q @S

(D) geaa8

FRFIAIRS AIHER 698 U9 986! BR
geIg NG dia N9 geIa SRR
Qegl SIS BgEe ?

(A) QR A

(B) 6916w aao

(C) 2EeIe gaIew

(D) QniEe gaIes!

(1)

47.

49,
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. "GR0 9o% MR 90 288 697-IRQ 99

UP6E gRIe K6M @6 689 7
(A) 96|e

(B) SQugsa

(C) =y gede

(D) g&a e

‘CRIA cAla QI AeBe §4?
(A) FETRIR 6F6ER

(B) QUG Qe

(C) 96es AwE

(D) s_ICIRIe ALQIE

‘RIS, 926 ‘98l 9t 60a gAIR
2A4E ?
(A) NUUIGRIN

(B) QLFRRRe
(C) @@ Qiow
(D) Q6@

FEAIS U 6REE TANR AN [IR'Q
Qal?

(A) cead

(B) §28

(C) ewwaizizl

(D) ee@ge

adicendq 28 @/4?

(A) 69

(B) ugee @ae

(C) Geleael

(D) Q6aay G geynd @8l
(Continued)
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50. FORYS AR 6eEE Saaa 99a ged?
(A) 991 99 2ICAEIS TSGR
(B) 491 4e aeadngd QIdy

-(C) @l 9@ 5§a ggal
(D) 894 6208 N4

31 9oR 93eraE 910 96 G6R FLAIRES!
a9 (51 @ 55) 690 00 6d |

@2, RO OF, 690d gth 649
6E1’ G16R GAY &G, 3 69,
QIT 329 GIF 69109 98 OR
ag caa Ay 89 69l |

@ 65a1 QI6N Qg 699 I8
Qae 4, a8 @il 69,

@6 890 9al ¢ 2 QI gal

g2 @ waeea aail 64l I”

aIge ARIeR g9@ QI6e 6a1F
@ qIF Queia fa,

G9d 2R a9l @ o aia QIR
Qeie @6q IR @af |

QIp e 80 69a AFe 94
6QIgg 69IC a9 aad,

¢Qg ¥@aQ aald Ky

g4 & eaea aaiel |

| Galee 98 019’ @498 2iel @8 ?
(A) 2892
(B) gra 99
(C) cRIRRA R I
(D) @Q6QIS 6Sl6aE g6

51

(12)

52.

53.

55.
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qiaig 9& agH ol QUIAIGE ?
(A) @adl
(B) @
(C) 9y
(D) =&

Ge oda af 6809 cala QIR

QRIIRE ?
(A) F899

(B) waq
€) aseq
(D) oung

QaeaIe TI6R AFq IV AR 691
QU ?

(A) Qe
(B) W
(C) oo
(D) <ael

‘P96 GOCR QI — 4 GEl &4 QAP
@9ea?
(A) 990 Q28 a9qq
(B) Q99 /%8 ea1g
(C) 4138 Aceg
(Continued)
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998 UReReSy af BgeR GEIAIRgel gg
(56 @ 60) JFPR Q81 60 |

@IPAO, Agaa, ASeS QIAgd ZieR
G891 | AF69 Q12T g6 AF6S, ANSE
Q@ 6L | greee 9@ aiel, agdy
cRIGN 919 698 Q1218 @1F | anea Ta ga
COIeB, @3 98 QR Q6T aneg
REIREIN | 6Q6S AT AVER T aF Goea
S8 Q6w afﬂg g8l FieRa | 604 Q@
QN9 626R AJJEEA AR ARGY AIS
QYeIq age |

ARG €13 AIG IEA AMAINE BN QIR FYS! |
BlEE ARG B8 TIN6R, 62FIER A
gNg 9N KNS | AMA[ES, 26 aF
ANMAIRT 8l @V, AT geg I
6691, O’ 626R AFG YIT@ @9 R AIRS?
2ien A8 QIR ANLER A9 §06R HaIa e
60196 Q09I 66969 64 A 2O g8 @I
QISR 6TINE FRS | INAIRT ANFER A
AR ¢g ISE AINYE (AAIRE AR6a
269 6 98l IS 98 QTS | CARYAIN QHER
Q2QIg 626R AR HI6R AGERER O Fal
Qel, AMAIRST LERNG! @A, A7 Besa
SR QISR agen 2N QIR 1 9R2I 62190
gaea 6 RIS | 9769 ZINg a6
REIaGes |

(13)

56.

57.

58.
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69616 OF ?
(A) 9sig aI8 Fieq

(B) 418g 9 fsw

(C) ameg g4 Fse
(D) Qeq Qs fse

AMAINS IRLER 2F RQ HAID US|

Zea....
(A) 2NGE 6AAIPT ARER &I AIQ

9 99

ZIAGE 69AIT FIR60 508 I

Q8 g9

EINYE 6ANIEE IRER G306 6

gel e 98 99

6AAIRE g9 21 ARsA G398 8

qél Q19 98 94

JHEQ QEQIG 626R....

(A) 219 OF 8e6a AgEREw an 8l QYS!

(B) amyaiee @0 @I9R aae)
(C) AR SH6a On NISFI AYS

(D) easaIs ane

(B)
(C)

(D)

(89 41360 REAIER FIF AIFe ?
(A) P68 AGEQER AIF 63I6R
(B) 418 AR9IR 91T FIaRIE
(C) 418 aneg fseald

(D) wasqs ana

Aea 418 aIs 96 @del?
(A) UMY AR 66F

(B) MG QALY @GS
(C) NG a8 A

(D) @aeqis 6RlaaE gee

(Continued)
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L L - ENGLISH j

Find the correct sentence from among
the following :

(A) He is a strange man, isn't he ?
(B) He is a strange man, isn't it ?
(C) He is a strange man, is not he ?

(D) He is a strange man, is he not ?

Identify the grammatically acceptable
sentence :

(A) School begins at 10 O'clock

(B) School begins at 10 o'clock

(C) The school begins at 10 O'clock
(D) A school begins at 10 O'clock

Which of the following is not a correct
statement 7

(A) Assessment during teaching -leaming
process is more useful.

(B) Summative assessment is useful
for redesigning the strategies.

(C) Formative assessment provides
feedback.

(D) Assessment is ultimately useful
for improving teaching-learning

process.

(30)

64. Which of the following implies "to utter
with more degree of force” ?

(A) Stress
(B) Intonation
(C) Pronunciation

(D) Pause

65. The process of dividing a sentence into
a few sense groups while reading is
known as

(A) eye-span
(B) chunking
(C) skimming

(D) scanning

66. Primary requirement for writing a
composition/essay is

(A) sequencing
(B) wvocabulary
(C) idea

(D) style

(Continue
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67. The book is interesting to read.
The underlying word is a/an
(A) adverb
(B)
(C)
(D)

noun
verb
adjective

68. | can't lift the box. The full form of

“can't" is

(A) canot
(B) can not
(C) cannot

(D) cannut

69. Reading an unseen passage in the

examination hall comes under
(A) extensive reading

(B) reading for pleasure

(C) make happy the evaluator

(D) intensive reading

70. Which of the following is considered

receptive skills 7

(A) Listening and reading
(B) Reading and writing
(C) Listening and speaking
(D) Speaking and reading

(31)

prepp

Your Personal Exomes Guidoe

OTET - P-li

Read the poem given below and answer
the questions (71 to 75) that follow :

| hear leaves drinking rain;
| hear rich leaves on top
Giving the poor beneath

Drop after drop;
‘Tis a sweet noise to hear
These green leaves drinking near.
And when the sun comes out,
After this rain shall stop,
A wonderous light will fill
Each dark round drop,
| hope the sun shines bright
Till be a lovely sight.

71. The word ‘I' used in the poem refers to
(A) the sun
(B) the rain
(C) the green leaves

(D) the poet

72. "Leaves on top” represent
(A) Rich people

(B) Poor people

(C) Green leaves

(D) the poet and the sun

(Continued)
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73.

74.

75.

76.

The poem is primarily about
(A)
(B)
(C)
(D)

mankind
the sun
rain

green leaves

Which among the following is nearest
in meaning to the word ‘wonderous’ ?

(A} marvellous
(B) unexciting
(C) tiresome

(D) tedious

Which among the following is a symbol
of hope in the poem 7

(A) rain

(B) sweet noise

(C) the sun

(D) green leaves

Choose the most appropriate answer
from among the following :

Your answer is right.
(A)
(B)
(C)

(D)

hundred per cent
hundred percent
a hundred per cent

cent percent
(32)

77.

78.

79.

80.
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L —

Identify the correct speit word.
(A) Vacuum
(B) Vacum
(C) Vaccum

(D) Vaccum

Which of the following is useful for
leaming language at the beginning ?

(A) Teaching
(B) Explanation
(C) Persuation

(D) Exposure

Which language skill competency is
considered most important in teaching-
learning English in India ?

(A) Listening
(B) Speaking
(C) Reading
{D) Writing

Identify the grammatically acceptable
sentence from among the following :

(A) He is tired and so you are
(B) He is tired so you are

(G) He is tired and so are you
(D) He is tired and so are you ?

{Contin ued)
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81. Fr.i!ﬂ'f-‘:: f:'lE'-* correct sentence from among | 84. Complete the answer to the question.
the following : “What time does the bus |leave 7",
(A) | will have you all to speak English Mohan asked me. .
well within a year. Mohan asked me whattime thebus .
: A) left
(B) Twill have you all speaking English \
s (B) had left
well within a year.
_ (C) leaves
(C) Twill have you all speak English well (D) is leaving
within a year.
(D) | will have you all of speaking | 8s. Identify the most appropriate and right
English well within a year, sentence :
(A) You should avail of every opportunity
. N to practise speaking English.
82. Primary objective of teaching-learning 1 p il
i o s (B) You should avail yourself of every
English in India is to opportunity to practise speaking
English.
(A) ensure better employment -
(C) You should avail yourself every
(B) persue higher education opportunity to practise speaking
English.
(G} dﬁ‘h"&lﬂp communication skills {D) You should avail every opportunity
to practise speaking English.
(D) remain updated about
developments
IR Read the following passage and answer
the questions (86 to 90) that follow :
83. Identify the false statement. Once upon a time there was a king who
wanted to make all his subjects happy and
(A) English empowers peopletogetany | conteded. So he asked them to come to him
) . ith their grievances. One man came to him
the internet. | W g
information offered by saying he wanted to leave his small hut to live
: notonlv become atrend | In a palace. Next came a woman who had a
(B) English has y ‘ fruit stall, complaining that an old lady the
but upmarked pursuit also. next stall used to sell old clothes and asking
: that she might be removed. Another man
(C) Englishas asecondlanguageisnot | ,qyeq hermission to put his old unsafe boat
available in Odisha State. which the harbour master had condemned
out to the sea. The king granted all these
(D) English is a link language. requests.
c (33) {Cuntinuad}
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A little later, however, the first man came
offering to give up his palace. He found
he had to behave so carefully and keep
such state in it, that he longed to go back
to his comfortable little hut, where he was
happier.

The woman also came complaining that she
had lost all her customers, for they came first
of all to buy clothes from the neighbouring
stall and then stopped to buy fruit before
they went home. Then what happened to
the man with the boat ?... Well, he certainly
did not return to complain, for his boat was
put out to sea as soon as the king had given
permission, and neither the boat nor the
owner was ever heard of again.

86. The man who went to sea in his boat did

not return to the king probably because
he

(A)
(B)
()
(D)

had no more complaints
was on a long vo?age
was afraid of the king
was drowned in the sea

87. The first man was happier in his little

hut than in the palace because
(A) he could lead a simple, carefree
life

(B)
(C)

(D)

the palace was too big for him
people did not treat him like a king

he was too humble to live in a
palace

(34)

88. The phrase “put outto sea” in the

passage means
(A) condemned
(B) set sail
(C) setfree
(D) putanendto

89. The three dissatisfied persons in the

passage must have leamt the lesson
that

(A) there should be a limit to one's
desires

(B) others can make one happy

(C) things do not turn out as well as
expected

(D) future joys are sweeter than the
present ones

80. The main purpose of the passage is to
(A) tell us an amusing story

(B) bring out a moral

(C) throw light on the king's greatness

(D) show how foolish individuals can b

(Continued)
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MATHEMATICS & SCIENCE J
91. 96l Simieh sqgq: 3.5 _15 .3,5_15
) 478 3w g1. Aleamerwmte.4+5—32,
I 696 JRISE 9ERIBING FAIRIR 609 which type of remedial teaching should
Qeq? be given to the learner ?
_ - (A) Give more practice of similar type
(A) 649% geIQ AFQY QIS 2G 2641 6oa! of problem
. (B) Advise the learner to work hard and
(B) SArea&aq aqma aneug 2aiq practice the problems on addition of
S99l 6 @0 959 Qg adql fractions
oo - (C) Give pictorial representation to clear
(C) uIeqIR 9@l IR 66 souias the concept
(D) Write the solution on the
(D) SRALIEE ARQ ERYSTL blackbrard
92. QA3 QIHIEA 6R8 gNIQ FRITIAIRE 92, 'Enrichment Programmes should be
as Qqed ? applicable for which type of learners ?
(A) feeaie (A) Slow
(B) arue (B) Middle
(C) goaueIq (C) Gifted
(D) anageia (D) Forall

Q€ @A9I AIQ / SPACE FOR ROUGH WORK

(35)

(Continued)
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93, X By QRF QIR M.ALG 720 98

12x @ Sy @ W.4lLg. A& 720 | y @ F)a
EW6G ?

(A) 180
(B) 144
(C) 120
(D) 90

94, TORAYE FRIP 6REE IR TRCAIFIZIR
6w ?
(A) X2+ 2x- 5
(B) /3xZ-2x
5 1
: 4
©€) X+ +

(D) 99Fe A9 ARERIFAIR

95. 964 Y& 5% 999§ 2e6a T 1,200
IR 286w | 9F 9 68863 6@ T 400 98
Ged | 9O10 QF 6AEEE 69 668 oW
§36m, QISR 2R QI8 9 AIT?

93.

95.

prepp
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LCM of two numbers X andyis 720
and the LCM of numbers 12x and 5y is

also 720. What is the value of y ?

(A) 180
(B) 144
(C) 120
(D) 90

Which of the following is not a
polynomial 7

(A) X2+ 2x—5
(B) V3x2—2x

©) **

(D) These are all polynomials

+l+1
X

A man borrows T 1,200 at 5% compound
interest. At the end of each year, he pays
back T 400. At the end of third year, how
much amount should he pay to clear his
debt ?

(A) T 524 (A) T 524
"(B) %528 (B) ¥ 528

(C) T 532 (C) T 532

(D) ¥ 536 (D) ¥ 536 B

Qg @@<l 9ie / SPACE FOR ROUGH WD}HK

(36)

(Contipued)
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96. 729 IRl FIgesa §10 6 Ada aigaie

7:21 9460 U 696 9@ AGIRER Ge0
fige6a 10 6 Q18Q 2IgaIe 7: 36397

(A) 600 GRR
(B) 710 8@/

(C) 520 Qaim

(D) 6wladE gew

97. FORYE CUQ 6REE JEER 1@ 9P
qea?

(A) S8R URLIGER G760 QTS|

(B) @® gitfie 9a Gfie 1q 2re 92!
QGG CRRIA 6 FT

(©) 8ig 90¢ AIel 93 8 JeR9Y

(D) @89 aIeea gNIa 7SI AR QIEee
AU RN

96.

97.
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729 ml of a mixture contains milk and
water in the ratio 7 : 2. How much
more water is to be added to get a
new mixture containing milk and water
intheratio7:37

(A) 600 ml
(B) 710 ml
(C) 520 ml

(D) None of these

With regard to nature of Mathematics,
which of the following is not correct ?

(A) Mathematical concepts are
hierarchical in nature

(B) Upper primary level Mathematics
is abstract and does not need

concrete

(C) Argumentation skill is necessary for

construction of knowledge

Mathematics uses special
vocabulary to communicate ideas
precisely

(B)

aq @89 919 / SPACE FOR ROUGH WORK

c (a7)

{Continued
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98.

99,

100.

E“}Iﬁl%;@ A 6995 ade daeq g
R Q@Y 2697

(A) SRIEINIeg e 6 asyq e
dinl 97 @49
IVIAINGE Beead ool Q8 SR

acieey Gda aid dadininee g9
RO YRG! 9P

(D) INAIRE Friea a8dae cag g8
@AQ

(B)
(C)

6910 gIiFare 9a anies QIga
6361y 32 @. 8 20 §. 269 9e° canIee
LR 9861 15 6. cesR, giaGang
6RGUR 696G 7.

(A) 290 ag §

(B) 390 @d §

(C) 780 9¢l &

(D) 400 @4 @

20T IRIOR 6916 FRIGE, 621 6RIER

AAIE CIRQ AFIRR ERIGA 4 GE a2
QeNIR 6R6R, 61 FAR AN RS ?

(A) 30°

98.

99.

100.

prepp
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Which of the following is a narrow aim
of teaching Mathematics ?

(A) To make learners’ proficiency in
handling numbers and number
operations

To develop learners’ generalisation
abilities

To develop learners’ ability to argue
the truth

To develop systematic reasoning
among learners

(B)
(C)
(D)

The parallel sides of a trapezium

are 32 m and 20 m and the distance
between them is 15 m, then the area
of the trapezium is

(A) 290 sq.m.
(B) 390 sq.m.
(C) 780sq.m.
(D) 400 sq.m.

Between two supplementary angles,
the measure of the smaller angle is

four times its complementary angle,
then their difference is

LY (A) 30°

. (B) saﬂ (B) 36°
(C) 43 (C) 43°
(D) 45° (D) 45°

Q€ #8<91 9IQ / SPACE FOR ROUGH WORK

(38)

(Continyed)
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101. P

S
Q x°

= R
@ ©g6a|P =88° |[Q=47°, [R=32°,

696 X° O TS 6966 ?
- (A) 167°
(B) 193°
(C) 253°
(D) 158°

102. C

A B
o8 9@69, ABC 8992 AC = BC,
IB=72°,CD =167 6 AD, |A
Q ANTHER 2169, BD @ 6Ty
ER6E 6297

-(A) 16Q8

1 =

(B) 2 eaf

5-1
© £

D) Jﬁ; 1 e

=

]|

101.

102.

prepp
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/S&
Q x° R

In the given diagram, |P = 88%, |Q =477,
IR = 32°, what is the value of x* ?

(A) 167°

(B) 193°

(C) 253°

(D) 158°

C

A 4 B

In the given figure, ABC is a triangle in
which AC =BC, [B=72°,CD=1c¢m
and AD bisects |A . Find the length of
BD.

(A) 1em

(B) %cm

© Lo

~f§+1

(D) —5 —°m

q @8e! 9I@ / SPACE FOR ROUGH WORK

(Continued)
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103. 9% x = flﬁT\fﬁ B y=+6+11 P4, 103, If X = ,I'E__\;'ﬁ and y:-..,u'ﬁ+w":lu1‘ , then
(X +Y) 6960 629 ? the value of (x + y) is
(A) V22 A) 22
(B) 2v11 B) 2411
(C) V6 (C) V6
D) V12 (D) V12
104. ceq T&HIQ WARQ 69T Q@I FeaIe 104. If difference of a number from its
@R, IEAITTR 10626 94, 64T AFUIG cube is 10626, what is the half of that
2]l 6R6E 629 7 number ?
(A) 10 (A) 10
(B) 13 (B) 13
(C) 12 (C) 12
(D) 11 (D) 11
105. 588 @ QEQIAT QI 69587 105. The number of factors of 588 is
(B) 22 (B) 22
(C) 18 (C) 18
(D) 16 (D) 16
Qe @891 2@ / SPACE FOR ROUGH WORK
Cc 40
(40) (Continued)
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106. 32 8 Y3 @ qeaq 69607 106. What is the product of ¥2 and 43 2
1
w V6 w ¥
{B:l 1 432 {B:l 1%'432
(C) V648 (©) §/648
(D) QaTe Fda adeae QT (D) Can't be multiplied
107. 9Q QIEGQ AAAYG VIS KUG FB LI 107. Dividing a mathematical problem
2PAGER F6R AT WAR K ARG into small parts and frame a relation
el FEIRE @AQIg /4 gRIAN? among them to find the way of its
solution is known as
(A) zIeQI@ .
(A) Inductive
(B) =ecam (B) Deductive
(C) Qsaad (C) Analysis
(D) Qeqad (D) Synthesis
108. “gde gedal” 6a AdIeeaq oIRaS 108. In "Mathematics Exhibition”, the
g9 65 9RIQ GRIIAR e 2 questions asked by the ubslewar is a
type of evaluation.
(A) Stedls (A) Placement
(B) cOf¢na (B) Formative
(C) Gamiae C) Diagnostic
(D) <Qadgea (D) Summative

@ @6<l 9I@ / SPACE FOR ROUGH WORK

c (41) (Continued)
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109, E‘G?f{:@ Q8ie 889 9e Goe Gengy
qe% ?
(A) 9T 990 96a!
(B) 8g adea qidice aaie ada)
(C) Qae g ueg ofiq)
(D) 2Iaesage sages 64a obe

110. SAIgee gae Aviaien 6716 Qg

Fda 989, 98¢ Jnieien sag al]
gera?

(A) zieaie
(B) eeqIg
(C) gea
(D) dQ4 @iy

109.

110.

prepp
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Which of the following is not a specific
objective of Mathematics learning ?

(A) Preparation of graph

(B) Quick calculation of mathematics
(C) Construction of a rhombus

(D) Calculation of area of a rectangle

To determine a formula with the help of
experimental proof is a/an
method of teaching mathematics.

(A) Inductive

(B) Deductive
(C) Project

(D) Activity based

111, x=1- .2 se6q, (x—;] SLemiswes | 111, Ifx=1- /2, what will be the value of
E2g? [ __1]39
(A) 8 %
(B) 642 W 8
©) 843 %) 42
o B

Qg @591 IR / SPACE FQR ROUGH WORK

(Continued)
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112. The sum of two numbers is 7. If the
GRTFR CAINTH 133 626R, 99IG CAINTR sum of their cubes is 133, what is the
- sum of their squares 7
(A) 18 A) 19
(B) 39 (B) 39
(C) 126 (C) 128
(D] 29 (D‘j 29
113. 6Ql68 GoF6 Q00 GAa GNd, 1aIQ 113. The sum of altitudes of a triangle is
AGQIA- than the perimeter of the
(A) 0@ 9989 EE?HQ!E- t
greater
(B) @ aaie (B) equal
(C) & &l (C) half
(D) oOIp YGes (D) less
114. P 114, P
S T S T
Q # R Q # R
@@ Ogen A% [P =25° 94, |R In the given diagram, if [P = 25°, then
EEEG 6997 the value of |R is
(A) 25° (A) 25°
(B) 50° (B) 50°
(C) 75° (C) 75°
(D) 60° (D) 60°
Q¢ 9991 919 / SPACE FOR ROUGH WORK
c (43)

(Continued)
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115. D A 115. D 2
E E
€ - c — B8 C
@8 8g6@ CD 6 BD gaigsq C @ |ABE In the given diagram, CD and BD are
Q ANFHee | 9@ |BDC = 28° issorrs.of (€12 35 opaciivol
[BDC =287 g4, If BDC =28°, then the value of
(lLABC +|ACB) ga6e? (ABC +|ACB) is
(A) 28° (A) 28°
(B) 56° (B) 56°
(C) 84° (C) 84°
(D) 124° (D) 124°
116. 99 9@ QAR AR B 99 QTcEew 116. If the circumference of a circle and the
aBAIA QAL 99, 666 £RQ | perimeter of a square are equal, then
’ (A) Area of the circle = Area of the
(A) Q99 6AGTR = 9¢ AR CUGTS square
= (B) Area of the circle > Area of the
(B) 90Q 68QTR > 9% 6AGR 6AQUTS square
3 (C) Area of the circle < Area of the
(C) Q0% cAETR < Q0 689N 6HGTR square
) (D) Nothing definite can be said about
D) 9% 8 adega CAgaw aqesa the relation between the area of the
FLYRI6Q A6 AIF circle and square
Qg @AQ €I7 / SPACE FOR ROUGH WORK
c (44)

(Continued)
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117.

GEISES AAQY ARG AR 690E —
(A) Zoae

(B) 2% BRI

(C) 98 euix

(D) 3|4 Qi gl

117.
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Problem solving as a strategy of doing .
Mathematics involves

(A) Estimation

(B) Extensive practice

(C) Use of formulas or clues

(D) Activity based approach

118. @@51 G_??Q galee A9eea 699 118. What is the role of a teacher in learner
Qe Qe ? centred approach ?
(A) L6690 dRIAG! 699 e .
PR T (A) To facilitate in learning
(B) Eﬁ‘ﬂﬁ oGRS (B) To create a learning environment
(C) QRN6IRR QIFl @Qal (C) Actas an observer
(D) @aeaIs ang (D) All of the above

119. a+b +c=2x 626m, {(x —a)® + 119. Ifa+b+c=2x, then {(x—a)Z +
(x = b)2 + (x — C)2 + x2} = 7 (x=b)%+ (x—c)? +x%} =7
(A) (x2—a2—-b2-c?) (A) {12—32~b2—02]

(B) (x2+a?+b?+c?) (B) (x2+a?+b?+c?)
(C) (a2 + b®+c?) (C) (a2 +b? +c?)
(D) (4x2—a?—b?-c?) (D) (4x?—a?-b?-c?)

120. 966 6QNIR 6QIGY @8 QT6a 10% 120. A shopkeeper on selling a book makes
G215 6991 960 Fal 10% RN @08 | 9T a profit of 10% after allowing 10%
Qaea 7791 caMIQIRE, 6069 90 |4 discount on it. If the marked price of the
FJRY 69687 book is T 77, what is its cost price ?

(A) 616140 Q. (A) T61.40
(B) 62¢.374. (B) %6237
(C) 70 ol (Cy T70
(D) 63 % (D) X 63
Qg @891 9Ie / SPACE FOR ROUGH WORK
c (45) (Continued)
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121.

122,

123.

89 g 6996 agoig 500 6aiE
aara| ?

(A) RIQsAIFH

(B) 6asausRIq

(C) ecaeqIqdsqin

(D) QIRsIge

A09 694 2EQIT QIRgER soim ae
Qg 26T ?

(A) CaaR AIgsTIRgal
(B) 6@9% cqIeaiga
(C) a8k AIRsIRg2) 8 squeqigs

(D) 6wI€dAG ges

W' 090 G8a 9@ 9g PaAnIeq §5e 1@
ISR §F a0ea B9 RIgen 21980 | 96
Q968 6916 0 24, 6969 case addq
9@ 1€ @gq PAAINA AAGR phsa Saide
@RS ?

(A) wiang

(B) wsin®

(C) wcot#

(D) wceos#@

(46)
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121. The smallest organelle in a cell is one

122,

123.

of the following
(A) Lysosome
(B) Spherosome

(C) Peroxisome

(D) Ribosome

Which of the following organelles
shows similarity to a prokaryotic cell ?

(A) Mitochondria only

(B) Chioroplast only

(C) Both Mitochondria and Chioroplast
(D) None of these

A weight ‘w’ rests on a rough horizontal

Plane. If the angle of friction is 8, the
least force that wil| move the body along
the horizonta| plane will be

(A) wtang
W sin @
W cotg

Wcos@

(Continued)
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124. PORGS UG QNS FQIe geILa
QRIT GRIS QOER ARG GEE?

(A) QEARR IR

(B) QERRR R (TReng aE0)
(C) 6T94ee 99!

(D) FINEICER

125. QIg 2ULINT 9976 649 Q@ ¥4 ?
(A) QIRQER 27 9e° 48

(B) ziaeen, AFIeRIC) 99° 48
(C) TORIF I° 9%

(D) agIeels], a9 9e° 48

QGER 608 JNINa SFR MO
QULER TYE 6T ?

126.

(A) 9181a g3 5T 2R
(B) SISIG &S TRRAC U
(C) <=0 ga adeqiot 2asl
(D) QOLISIA A 2R

adicoma aedea AaIQe a4

AaoEa ce00 anIge Iy 268 ?

(A) adiceasa Qcwal ATRER o0
3m

Qoca 2IERIeR! @8 62 F64ad
@<

Qage 90EE eRISIREITl
TIodIe 969 QAR @aQl B
aQIae! 69l

127.

(B)

(©)
(D)

(47)

124.

125.

126.

127.

i

reanal Exgmes Gu

OTET - P-ll

Which of the following is not based on
the heating effect of current ?

(A) Electric heater
(B) Electric bulb (with filament)
(C) Electric iron

(D) Microwave

What is the end product of anaerobic
respiration 7

(A) Pyruvic acid and energy

(B) Alcohol, carbon dioxide and
energy

Carbon dioxide and water

Carbon dioxide, water and energy

(C)
(D)

Which type of forest is most
extensively distributed in India ?

(A) Tropical Dry Evergreen Forest
(B) Tropical Semi Evergreen Forest
(C) Tropical Dry Deciduous Forest
(D) Subtropical Montane Forest

Which of the following is the learner’'s
activity during teaching learning
process in observation method 7

(A) Togive instructions about objectives
of observation

To analyse the data by discussion
in group

To provide appropriate situation
To provide correction and help
wherever necessary

8

(C)
(D)

(Continued)
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128.

129.

130.

F60I8 0399e Aug ceud anied
a%6 G168 Rage g6< ?

(A) N2 2IQ9I0 6 29915 99010 SR8
F6Q

9% 998 6218 Aspagel g5aIg
0RYIRe wsa

FAIAIRIER AW GES NN
89 2R QI efaties

Q0I6E TEIRIING ZISEISS! A28

(B)
(C)
(D)

FARGe Aug 6ed FIad ges
F6% ?

(A) Q96 e AT

(B) €QIQI 69190 6HIR

(C) agl =l

(D) %9% gRal

@R6ER GRS 2FL 6 NG ¢e8 IaAsa
06 CaNAIRE QUG 6ReT OF ?

. pH BXS 696R, 13Q (81) 48411 89
i pH eye ce6m, 4aQ (29) 99 29
lii. pH @f 626R, AIQ 4846191 99
pH Q¢ 6267, BIQ §I@ 9

abq G0 6908

iv.

(A) i il
(B) i 4&* jii

(C) iiggeiv

(D) egsee 6aasF ged
(48)
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Which of the following statement is not

appropriate for experimental method 7

(A) It develops the discovery and
enquiry skills

(B) It discourages rote learning

(C) Teachers can do other work while
learners engage in experiments

(D) Science laboratory is required for
this

Which one of the following is not an
oxidation reaction ?

(A) Rusting of Iron

(B) Opening of soda bottle
(C) Rancidity

(D) Combustion

Which of the following statements is
correct about an aqueous solution of
an acid and of a base ?

i. Higher the pH, the stronger the
acid
iil. Higher the pH, the weaker the
acid
lii. Lower the pH, stronger the base
iv. Lower the pH, weaker the base
The correct option s :

(A) iand i
(B) iiandiii
(C) iiandiv

(D) none of the above
(Continued)
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131.

132.

133.

FORGe PG 6960 SRIF da9IGe
99 RERAY GEL?

SERIFRAINT g8 6 RIIg garal
@R 6 QRIS KGR AN

(A)

(B) QI 01 8 FegRq edal @aa!

(C) R9A 6 99 geald 98 anau

QARIE G

(D) dges @2lg gRIMY 69

R6CI9 FIQ 6RUT RININS GERENT
gona ?

(A) QITQ TG Z°E0 FIF FEAIBS

(B) \@ SIQIY 6RIRYS AHIG ARG

(C) QaYS FIFER FIT B FI6 MR
@A

(D) Feeq & FanNg awead 49 9eina

ce0d eree 99 96 e A g6 ?
'@ 9a 6 ‘¢ A0 6RI0e QIfl FUER
gel age A6 4oFI 0Tl U@

(A)

‘@ A PRTIEE ‘¢ AcA @ I sw
QU QP9 ZIQdya

(B)

(C) Qg gqt 69 gaIea QEal e

JeRNR 2A6R ANFG1EA I8 QEQ!

@eR

(49)
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Which of the following is not an
objective of teaching science ?

(A) To read the biography of scientists
and to appreciate their nature and

work

To describe the graphs, charts and
pictures

To solve the problems by applying
the laws and formulas

(B)
(C)

(D) To give importance to the teacher
Which of the following activity indicates
the cognitive domain ?

(A) Tell the parts of a vehicle

(B) To repair a damaged fan

(C) Use of charts and graphs at the
appropriate place

Describe Newton's laws with
examples

(D)

Which is not a principle for preparation
of matching type questions ?

(A) Instruction should be given about
the relation between the items of
Column ‘A’ and Column ‘B’

(B) There should be less number of items
in Column ‘B’ than Column ‘A’

(C) Question should be completely
placed in one page

(D) There should be same type of items
in each column

(Continued)
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134,

135.

136.

137.

AR FFRER TR F8 98 9w
gedis QRgQ FRiIinee 5068 606 geIe
GRAISRI SAUARENG ?

(A) SRERS AT

(B) 98RIfee AR

(C) 2R9® daeg

(D) OIS FVQIQ

QARQ ROU06R 6RA U9 IR 8RR
Q6Q ?

(A) QYER A8

(B) o®ial

(C) efI6Qq

(D) ad

QIR JRAKS TGN ¥ ?
(A) Qs

(B) acsaua
(C) 9exST 9e° AQERRT

(D) @C6aIS 663G g6%

@FE 2IPa Fg8 994 goe @'a ?
(A) AQ e Fean

(B) @9, 56 9e° &

(C) ©fl FF 99° Fean

(D) @Qe°aq

(50)
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Which type of planning should be done
r weak students based on the result

fo
of assessment ?

(A) Developmental teaching
(B) Remedial teaching

(C) Enrichment teaching
(D) Universal teaching

Which subgroup in plant kingdom
produces flowers ?

(A) Angiosperms
(B) Fungi

(C) Mosses

(D) Ferns

What is the mode of nutrition in
bacteria 7

(A) autotropic
(B) heterotropic
(C) autotropic and heterotropic

(D) none of these

What is the composition of Gunmetal 7
(A) Lead and Nickel

(B) Copper, Tin and Zinc

(C) Copper, Zinc and Nickel

(D) Lead and Zinc
(Continued)
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36, B9AYE GTED AR 6360 agoig 138. Which among the following metals is
gal? the lightest 7
(A} B (A) Aluminium
B) o8 B) Tin
(C) @i ©) Lead
(D) el (D) Copper
139. 6960 SHIR SRER AIP FRRER 9@ 139. Which is a tool used in science
Qg 26T ? leaming assessment process ?
(A) adueeae (A) Observation
(B) SRYOIAS! (B) Checklist
(C) gee QI (C) Project work
(D) 8 RuIaS (D) Portiolio
40, Oqoeese @ 6% 92989 5 140. Put & mark in the correct answer :
aaiaie &9 QOG0 0A188 908 | i
e | [T | [Fas | | [ [ | [
Tl
21 46 €06 gRIea RAUAR AT aee ? Which type ulf Iea\ssess.r'ma\nt tool is it ?
(A) Qeaieel 5008 (A) Anecdotal record
(B) 603" 63R (B) Rating scale
(C) ooy ol (C) Checklist
(D) adicesd aad (D) Observation schedule

(> (51) (Continued)
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141. 89 696 69619 2aga ?
(A) sdeig
(B) goi1g
(C) o'

(D) QaeeI9 651630 gew

142. e@eqiQiel a9

FI2I6Q 6819 9 |
(A) 21@259d
(B) 18@21%d
(C) 10g12ed

(D) 16 @184

143. GoRge orIQ 6980 G0 AIR ¥e°

TERUOT NULEE G T4 ?
I eRffasn YIRseq
ii. SHIRGDS ANETY
iii. saIgI@aa
A0Q IRF SOQ mgﬁ
(A) 62Q@ i
(B) caeq ii 4@ iil
(C) 6RaR i 4 " il

(D) i, ii ag* iii

(52)
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Mushroom belongs to
(A) Algae
(B) Virus
(C) Fungi

(D) None of these

Adolescence ends between the ages of
(A) 21 to 25 yrs.
(B) 18 to 21 yrs.
(C) 10to 12 yrs.

(D) 16 to 18 yrs.

Which of the following is/are used as
both fertilizer as well as explosive ?

i. Ammonium nitrate
ii. Calcium sulphate
lii. Potassium
Select the correct option.
(A)
(B)
(C)

only i

it and iii only
I and iii only
(D) i, ii and iii

(Continued)
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144. N_+ aH, = bNH, ani@eaeq,
aldba ¢ QE6ee ?
~(A) a=3;b=2
(B)
(C)
(D)

o oo W
nn
W MmN
o o o
n n

W M W

145. 1 REA VP 4°C @ 0°C G 24 626\,
<49IA ZINEN6R & 9feRe 9657

(A) D269 LA I 9L° GIA6R 9F A6T
(B) QaIe a@ag

(C) 98 g9

(D) 2 g9

T Quad S8 99 IRIFIR a26R AT
QYS! e QENIG FAIAR YRR LS
PER 66 6% ?

(A) 2mr

(B) mr

(C) g%

(D) 2r

146.

GrIgea g9 ALYeIg AGARR RS
Qg 690 OR00 SISTIQ 6RIRAIN ?

147.

(A) Eiemien!
(B) agae
(C) Geq@d
(D) oee

(53)
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In the equation N, + aHp = bNH5, what
will be the value ofaand b ?

(A) a=3;b=2
(B) a=2;b=3
(C) a=2;b=2
(D) a=3;b=3

When 1 litre of water is cooled from
4°C to 0°C, its volume

(A) first decreases and then increases
(B) remains the same

(C) increases

(D) decreases

What would be the displacement of

a particle moving in a circular path of
radius ‘'r’ after a displacement of haif a
circle 7

(A) 2rr

(B) mr

(C) zero

(D) 2r

Which method is used to find out the
truth in science ?

(A) Discussion
(B) Guessing
(C) Analysis

(D) Thinking
(Continued)
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148. @@ QI2IAS 9960 IBIe Gaivieq 994 148. What should be the nature of science

QA6 6991 TIeayq ? teaching in upper primary level ?
(A) 949 AINES UIRAIG SIBgIA colTaIns! (A) To repeat the concepts by asking
' guestions
(B) g8 9@ fer agal (B) Remember by rote learning
(C) Give emphasis on the mental
(C) Sadie aede goa aasa J9a 699! process of learner
_ (D) Give more and more emphasis on
(D) usdgee agss sieg 2ye Gae 64! the concepts

149, Q6QIIQ0. 99 QUi AAesa ZIRIE 149. The redness in atmosphere at sunrise
QIR 6RSITNR KRG & ? and sun-set is due to
(A) 2eniaa dgad (A) scattering of light
(B) zicRas 30 (B) dispersion of light
(C) eisnIea geaes (C) refraction of light
(D) dsarwa geaas (D) reflection of light

Gea Gohge & Ta ;

150. fgﬂﬂ, m}mq-‘a' Age g e@us 150. Which of the following combination of
QUIIL 9EYE NER g ? planets is known as ‘gaseous planets’ 7
(A) €9, 92493, AFR 9e° &5 (A) Venus, Jupiter, Mars and Satumn

& (B) Mars, Venus. S
(B) ©lar@, 4%, 4% 99° gauaq 1 us, Saturn and Uranus
(C) 9990, 67, GRINY Ie° 6RAGR (C) Jupiter, Saturn, Uranus and
Neptune
D) Qu4f, Aere, 9291 9e° 6RaUgR .
D) % % 2 (D) Jupiter, Mars, Earth and Neptune

c (54) (Continued)
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91, WIRSA QTG 2igoes ACRT i
6969 WIGIE O feI saumia ?

(A) 25
(B) 43
(C) 65

(D) 83

92, 919 696l F19R IAIS goua Fae

A28 K69 ?
(A) @aoeq

(B) 9gaes
(C) <I849160IE Ade

(D) wgeqe ang

93. GQAYE YR AUG 6REE RGBSR 6AIGIR,

QAYIWQ R AVRER?
(A) Qan aRod ge

(B) Foia afaa g8

(C) oma@ge

(D) eRIER &

(55)

1.

Approximately what percent of the total
volume of India has alluvial soil 7

(A) 25
(B) 43
(C) 65

(D) 83

zone of the Earth

receives direct rays of sun.
(A) Frigid

(B) Temperate

(C) Torrid

(D) All of the above

Which of the following battle paved
the way for the foundation of Mughal
Empire in India ?

(A) First Battle of Panipat
(B) Second Battle of Panipat
(C) Battle of Plassey
(D) Battle of Tarain
(Continued)
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94.

FONYE M@ S19Q aug @Y SARel
A9 9IR 9F-9-Ae0al geas ateem ?

(A) QITIERIH 6MIS
(B) @912 6aIT
(C) Goee AT

(D) SQEQIS AN

FeqI9 QUG 69WT ESIR JAGER
AQIFICIR TFDAIR TS 26T ?

(A) FEREYS, AZRAE QA G QI
ARINES S84

(B) 2gead, adysaad 8 @Idy QAL
age _

(C) zIgamie, Adyeqad @ AERAYQ!

(D) 2GANIQ, ALIELVE G QI AIIAER
dad

Peale daINea ewEa o
QIIEas F96 INNER FI8 9a IR
QGRS 2IET?

(A) D6QIE ALYETDE G 2SR
(B) 9664 adiseB4 G UERIR
(C) 699% 2CASR!

(D) «g6qIs ang

(56)
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Which of the following Lodi ruler

introduced the Gaz-i-Sikandari to

measure the land 7

(A) Bahlol Lodi
(B) Ibrahim Lodi
(C) Sikander Lodi

(D) All of the above

Which of the following is correct
in laboratory method of teaching

geography ?

(A) Learning by doing, imitation and
memorisation

(B) Learning by doing, observation and
imitation

(C) Learning by investigation,
observation and memorisation

(D) Leaming by doing, observation and
investigation

Which of the following method is

applicable while teaching international
date line in geography ?

(A) Indirect observation-cum-Discussion
(B) Direct observation-cum-Discussion
(C) Only Discussion
(D) All of the above

(Continued)
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97. 606 RENIGER TRAGER g9 6ad
QEEIN SR 94 QRIAN ?
(A) QO9R
(B) ¥1@
(C) eaea

(D) ARG

gaaIc aSeAINIA AR G 699G ?
(A) UARTE

(B) QEAGI

(C) i@

(D) 6<BAIF

99, YR NEER AU AR QENART @47
(A) SORRE

(B) @Rq1aead

(C) Q690 QAR

(D) @eaqs!ade

100. 696 G900 ARG AR F1QTIR
RGO G6T ?

(A) QEiae AaE

(B) Qi @a%

(C) 9@ aEae

(D) Gl 00E9

(57)
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97. A landmass bounded by sea on three

100.

sides is referred to as
(A) Coast

(B) lIsland

(C) Peninsula

(D) Plateau

The highest peak in the Eastern Ghats is

(A) Anai Mudi
(B) Kanchenjunga
(C) Khasi

(D) Deomali

. Who was the first woman Chief Minister

of Independent India ?

(A) Jayalalitha

(B) Nandini Satpathy

(C) Sucheta Kripalani

(D) Vijaya Laxmi Pandit

The three tier system of local
government does not include the

(A) Panchayat Samiti
(B) Village Committee
(C) Gram Panchayat
(D) Zilla Parishad

(Continued)
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101. s9d ug9R @0 gedegs aid sger 101. Which institution suggested guideline for

Aimir

RISDIN YIRS SFUAR VIO AResa class wise distribution of Indian History
ASNES Q0ida efsem 2 syllabus for upper primary stage ?
(A) NCERT (A) NCERT
(B) NCTE (B) NCTE
(C) ICHR (C) ICHR
(D) UGC (D) UGC
102. Q09I SQITIT AABER Q4TS S1RT 102. Biographical method of teaching history
9l UNLINRT OO 696 69 QUCR LNIGS ? based on which theory ?
(A) .aquiﬁg AT (A) Cultural epoch
(B) F=iQ98 (B) Great man
(C) CREo9E (C) Cyclic
(D) oNe® (D) Developmental
103. 696 Q91T 9@ 93 QUMRl Aa sea 103. Which one amongst the following rivers
ge1ge ceRng ? flows through a rift valley ?
(A) ALI9GT (A) Mahanadi
(B) o3 (B) Tapti
(C) <eean (C) Kaveri
(D) S%9e (D) Brahmaputra
104. “@ @I6dg 9NN RAFIEN 104. The situation like *13 year old child
QUTEE 1@ eN 98a QN 4§ aRET working in a factory manufacturing
FIOYS 608 2YRING VNAR 998 ? carpets” violates, which of the
following Funda i
(A) SRS TRR ! g mental Rights ?
R (A) Rightto Equality
(B) Wy ’ oy (B) Right to Freedom
€ E“-:'“ﬂ e (C) Right Against Exploitation
(D) &6Q8 YYAGIA 2YQIR (D) Right to Freedom of Religion

< (58) (Continued)
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107.

108.

 GORYe QIRIGER fAG 699 qIeia

ERINASI AR QY| ASIYG ?
(A) QAASE

(B) 9SNIC

(C) aan

(D) QUeRIQ

@REIER QAR-Je AYeNE AR
FORAIR a9e6gel O GRE-08n6a
ARNIREE GR adie Jge adenRig
@ geIa Rg9e geiard?

(A) 99909 AR2ER

(B) qu QideizEe

(C) VOgReE! AFCH LR

(D) QU6AIS 6FIETT g6&

cad Nged YIGAEs RIS 2GRS ?
(A)
(B)

(C)
(D)

2R
2CARRNE
g1ew AgRd
Qaeale AN

_ Q6ea 8e9lg A 26T, 281q
2ip4ae Gae &@ql e a3l GER ?

(A) Fanew

(B) Q15916618 N8%

(C) qgaew

(D) @aewe 61636 Q6%

(59)
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Which among the following States has
the largest number of Lok Sabha seats 7

(A) West Bengal
(B) Guijarat

(C) Assam

(D) Rajasthan

What type of topography is the mountain
range, extending from the Shimilipal
range of Mayurbhanj district in North
East to the Malkanagiri district in South

West 7

(A) Western plateau region
(B) Mid mountainnué region
(C) Coastal plain region

(D) None of the above -

desert lies in the torrid
Zone.
(A) Arabian
(B) American
(C) Cold desert
(D) All of the above

The climate in the zZone is
moderate, that is, neither 100 hot nor

too cold.
(A) Frigid
(B) Temperate
(C) Torrid
(D) None of the above
(Continued)
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Which of the following newspaper was

109. WO QPG 2eIes arasa Godge | 109. Tilak durt
4 = = Lokmanya lila uring
6 Q6 TR SV 6q ata) founded by
? ’ il Indian National Movement ?
G ?
(A) Yuganitar
(A) QeIse -
(B) co@mi ) 2eng _
(C) exaqt {C] Kesarn
(D) zge ovIa 0gal (D) Amrit Bazar Patrika
110. QIR QIRE YRITE 99 Q0IeS! 5a8 110. What was one of the main reasons
UBER 9T (3 QI @' g ? behind Mahatma Gandhi's decision to
(A) W9 96° JURAIRAING CIIEE 2ye take up the Khilafat issue ?
= i i Hi
990l Zidql (A) To bring more unity among Hindus
% = li
(B) 29 &° YIRAGAIGE IR TR aymims |
= (B) To bring more unity among Hindus
4QQ! 2§ o
N and Christians
(C) 9RAI8 NG qeemeaIRE duse (C) Tobringmoreunity among Christians
e a@a! 2l and Muslims
(D) @QsRI8 6RladE gou (D) None of the above
111. AR YA QC6e ARe RGAQ 111. When was United Nations Commission
(A) 1946 (A) 1946
(B) 1950 (B) 1950
(C) 1949 (C) 1949
(D) 1948 (D) 1948
112, QQQA%@ 9661 ﬁ?l‘?‘_ﬁ:’ 69IR2R NG 112. The first President of India who elected
gae Qigae ceane unanimously was
(A) ot QIsER 9T (A) Dr. Rajendra Prasad
(B) @8 'ﬂﬂﬁﬁﬂ@?ﬁlﬁﬂm (B) Dr. APJ Abdul Kalam
(C) 41949 geiat (C) Sri Pranab Mukharij
(D) 91 @1mn RIS (D) SriNeelam Sanjeeva Reddy
C (60)

(Continued)
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113.

114.

115.

1186.

FORYe 694 a9i6e deuwd a9 aq
cRIR QBC 6RIRAIG?

(A) B989 8w

(B) 2Zicqia S

(C) QISR 8R!

(D) &9163T6Qq gee

FEQI0 QSQArT FIQ 6QEEER TSR
Q8 6QHANG ?

(A) 91919 adsaiat
(B) @192
(C) |2l
(D) gie oaede

P09 69T ARNKINe odRl 9Ee
FRIETR RRIQE @FaId ?

(A) ooqug

(B) e=mIae

(C) aeiae

(D) Gaed

6966 20T FAITRER 9@ GEI-gIS
G496 QOead 265 ?

(A) Qe

(B) ISR

(C) eI aa

(D) &9

(61)
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Mineralsare depositedand accumulat_ed
in the stratas of which of the following

rocks 7

(A) Sedimentary rocks
(B) Igneous rocks

(C) Metamorphic rocks
(D) None of the above

To which one of the following types of
vegetation does rubber belong to ?

(A) Tropical deciduous
(B) Himalayan

(C) Tidal

(D) Tropical evergreen

Which of the following refers to
quantitative description with value
judgement ?

(A) Measurement
(B) Evaluation
(C) Test

(D) Judgement

Which is an audio-visual aid in history
teaching ?

(A) Charts
(B) Dramatization
(C) Loudspeaker
(D) Picture
(Continued)
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118.

118.

120.

NS 690 2RY ARG 9REE G
QAR 69gQIq fee ?

(A) 6rIcRsBIRIER

(B) w9

(C) ©Ig-<ieal

(D) &R

6eR od 94 Q@2 QIS SFRIA
QER AN SR ?

(A) 1773
(B) 1791
(C) 1765
(D) @06aIe sFEAT Q6w

geTae 6RIAGT FIDER RETIR BIINR
e QERay 9a% @6 ?

(A) SUISLRR B ANIND -

(B) «4I9Q5Q 6 Arac

(C) QG 8989

(D) {87 TR

PE0IR TE6Q QIYAERA GE! NG
aIe 699 QA% AV FUIREN ?

(A) a6iFiea
(B) 48 062G A6HINea
(C) Q6196 295 26s17Iea

(D) 9IEeIR 0F

(62)
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was found in which of the

Couple burial
following Harappan sites ?

(A) Mohenjodaro
(B) Harappa
(C) Chanhu-daro

(D) Lothal

Inwhich year did the East India Company
acquire the Diwani of Bengal ?

(A) 1773
(B) 1791
(C) 1765

(D) None of the above

According to Prof. Holtz, what are the
two aims of geography teaching ?

(A) Practical and Social
(B) Practical and Cultural
(C) Cultural and Artificial
(D) Artificial and Social

To know the humidity of the atmosphere
which instrument is necessary while
teaching geography ?

(A) Thermometer
(B) Dry and wet thermometer

(C) Maximum and minimum
thermometer

ili)] Barometer

(Continued)
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121.

122.

123.

124,

c@6 QIGNEIO 8] 29 AlQg
@aeld 99° 690IR 6RINICTITED QIIay
@ ?

(A) 6A6QIF2IR
(B) asdQza
(C) €916aIR2R
(D) |ETPAR

6a% SIOAIFISY F9Q AT TRS!

24 7?

(A) 100°C
(B) 4°C
(C) 0°C
(D) —4°C

Q619 699 ANYGER A K91
A6 FFe AWVQ AR FNIR FIY
QaAQe a3 ?

(A) 2iggeed, ALIRIg Ie° gwale

(B) 9LIQIY, AT, OBIQ 99 2R
(C) 9eaIc, OEIQ, 2QUIRI 9e° FRIGERd
(D) ARIQIG, AL, GRQIC 9 AIdIR

Pgeye ¢degde uQ 6eas
UCHEQ 6RIQE OI6a 2D QSAIRS
cRIRaI] ?

(A) a9

(B) egeq

(C) quaaa

(D) oq

(63)
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Which atmospheric layer contains ions
and helps in wireless communication ?

(A) Mesosphere
(B) Thermosphere
(C) Troposphere
(D) Stratosphere

Water has its maximum density at what
temperature 7

(A) 100°C
(B) 4°C
(C) 0°C
(D) —4°C

Sardar Sarovar Dam built over Narmada
River benefits which of the following
States ?

(A) Andhra Pradesh, Maharashtra and
Gujarat

Maharashtra, Gujarat, Punjab and
Haryana

Gujarat, Punjab, Haryana and
Madhya Pradesh

Maharashtra, Madhya Pradesh,
Gujarat and Rajasthan

(B)

(©)
(D)

Koderma, in Jharkhand is the leading
producer of which one of the following
minerals 7

(A) Mica

(B) Bauxite
(C) Iron ore
(D) Copper

(Continued)
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125.

126.

127.

ARl 32 RNIAGID QRIS 696 S
2IeT ?

(A) sig— |

(B) sug— I

(C) sua— 1

(D) ®ig— IV

RSB ARAIRA IG SRS 2!

&1 FRIQ 608 609 AR FAUCIRE ?
(A) <R« agel

(B) @egR2

(C) @I

(D) edie

699 080 g0l g9 6 g 9f a6difiea
gial QIgALRa G A SAUAR 9
QIREER g9 QAIaI ?

(A) SeIBIRIR gaIe

128.

(B) adieeas
(C) asid
(D) @aeaIs AAa

08 696 QUGRdT 29 QOAd
acadl 2are g dad Anase e
WLRIQ ERRAIRS ?

(A) SI96R 56 T 6qUS (6RTIR 6U9)
(B) QiIQd 6QUS

(C) @8

(D) eLIGIER ATY

(64)
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Article 32 belongs to which Part of the

Indian Constitution ?
(A) Part—I
(B) Part—II
(C) Part=1il
(D) Part—IV

The idea of the Concurrent List of
Indian Constitution has been from the
Constitution of which of the following

countries ?

(A) South Africa
(B) Australia
(C) Canada
(D) Germany

Which methodis appropriate to measure
the humidity of the atmosphere by dry
and wet bulb thermometer and mention
itin a chart ?

(A) Laboratory

(B) Observation

(C) Experimental

(D) All of the above

Which of the following instrument must
be used mostly than other instrument
while teaching latitude and longitude ?
(A) Skeletal globe
(B) General globe
(C) Picture
(D) Drawing on blackboard

(Continued)
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Gga FUQ 6965 9@ g Aedq
gesaaa QA AR g6 ?

(A) Q09 6RETR

(B) 0K S

(C) Q0@ @a

(D) Q0@ Qsee

129.

G619 696 6T REAIR FTITIRCR
ZIRdie QIR REAIR AATe oo, uiel
F09, 918 <1 GaIe euea adieede 26 ?

130.

(A) P68 acaay

(B) 9w ana LAQEAIT QERdy
(C) auies aswey

(D) @aeqIe 6wlEaT gew

131. 2I9ees SOIQER QIFISE Y, aidl

RUTIER AV FIR AGRIT FVUDIREYR ?
(A) ae@

(B) agmad
(C) exigm
D) 21§ agidn e

%2, Ioe@e ae €9l cdlar 6a¢ FRI6R
aeqe ?
(A) QaeQle
(B) eQlx@iga
(C) «Iege
(D) engy

(65)
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129. Which of the following is not an essential

130.

131.

132.

feature of good map projection 7
(A) Correct area

(B) Correct shape

(C) Correct direction

(D) Correct symbol

Which of the following objective of
teaching geography is necessary to
know the facts, concepts, laws and
principles of geography ?

(A) Specific objective
(B) Short term objective
(C) General objective
(D) None of the above

Ramayana was translated into Persian
at Akbar's court by whom ?

(A) Faizi

(B) Abul Fazi

(C) Badayuni

(D) Haiji Ibrahim Sirhindi

The historic place ‘Chauri Chaura’ is
situated in which district ?

(A) Prayagraj
(B) Gorakhpur
(C) Kanpur
(D) Agra

(Continued)
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133.

134.

135.

6ed A3WE ‘OF Faew QIoe
ERIRA ?
(A) 1906
(B} 1909
(C) 1910
(D) 1911

6919 QIE°), AT @ TAQA! QY
TYAER FITPYS 6TIRYR, 1D 698 TR
AGAIER grt 908 caRaRam ?

(A) &g

(B) *FaideR1aa

(C) fiedaq
(D) Q@

R1916 88l @ Geead adae (NCERT)
1988 NARIER RLYIAAR 6541aIR 69R8Q!
adedeica A8 6R9f ASea AR
QELEIRITER JUIRE QAIAIRE?

(A) <90Q SEa SIReIA ANP IRIER 96

QGeaRa ggd 6AAINYPe 9369
aalEnier A 24 FTuTe sang
Q& 6QgFq oI @dse ve* Jeude
o0 Qeae 9a6S

(B)

(C) amidiriee Que @Pade gerqd

GRNgPe |18ee

QORI 6960 QY 696w, daINIeR
6QgQ 9621a 9§ S9QIg AN 626

(D)

(66)
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133. The partition of Bengal was cancelleq

in which year 7
(A) 1906
(B) 1909
(C) 1910
(D) 1911

The Bourbon dynasty, which had been
deposed during the French Revolution,
was restored to power after signing the
treaty of

(A) Vienna
(B) Constantinople
(C) Marseilles

(D) Prussia

Which of the following is the objective
of teaching history as suggested in

guidelines for upper primary stage by
NCERT in 1988 ?

(A) To promote an understanding of
the major stages in the evolution of
Indian saciety through the ages

Given certain historical happening
of similar type and pupils should

analyse their causes and develop
historical laws

Pupils should know the significant
facts in world history

(B)

(C)

(D) Given certain sources of history,
Pupil should able to construct

history out of them
(Continued)
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136, 90T 88 Q9 9ngeq 69618 gea
a80a 9@ ARIGE Fae ges 7

(A) QGRS
(B) 98 Qa9
(C) AMSRR
(D) TURINRS

137. SI9G 6REQIT e 2BRca 0

- 137.
cRIEE 7

(A) 4
(B) 2
(C) 6
(D)

138. FORYe A 6R6S gaeIa eanIg)

Q9RQ ORIRS Q@Yel AQ0IR 99RYd Qe
269 ?

(A) SR6QICRAR (FFRV)
(B) sdla a@ed
(C) feeIaxE

(D) 691&3T g6

139. Badqe ced 2Iee Aeeq -
6901Q6TIE QEAIT 2RIAEA ELIR2IT ?
(A) SIee aeeias 1892 NG 2IRR
(B) w1ee qeeies 1909 QR &R
©) wiee qeaies 1919 Ad2l 21I9Q
D) siae aeees 1935 AT 2INS

(67)
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136. Which is not a basic principle in project

method when teaching history ?
(A) Activity

(B) Narration of story

(C) Purpose

(D) Experience

India is divided into how many
earthquake zones (seismic zones) ?

(A) 4
(B) 2
C) 6
(D) 5

. Which one of the following is the most

important factor that influences the
distribution of temperature on the earth ?

(A) Insolation

(B) Solar radiation

(C) Terrestrial radiation
(D) None of the above

. Which of the following Act was based

on Montague-Chelmsford Report ?
(A) Government of India Act, 1892
(B) Government of India Act, 1909
(C) Government of India Act, 1919
(D) Government of India Act, 1935

(Continued)
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140, 696 698 Qdgasn Qg LEA NPT
AR ASA9 Q1 6RIC AyIR AgsaIen

140.

The first country to allow Voting Rights
for all groups of people was

@I ? (A) USA
(A) 9] ZI6AERI .
B) edal (B) Russia
(C) wige (C) India
(D) Faswue (D) New Zealand
141. o5eQ daI0inen "9 Q 6R & ? 141. What is the source of “coin” in teaching
history ?
(A) Sia Qe (A) Literary source
(B) F°9 (B) Anthropological source
(C) 49|%R (C) Archaeological source
(D) &QNaQE ges (D) None of the above
142. 7G4 600 GRIGT 966 amidh ofeia 142. Which of the following section a student
SYLIRE6 QIR Q1L ? cannot found in a history museum ?
(A) 9OQ @G21Q (A) Geological history
(B) 9918 e@LQ (B) Local history
C) w00t (C) National history

(D) LKoo adua

(D) International history

143. 86019 AUQ 69T PEAIR FAGQ I 143. Which of the following is not a method
aed gee ? of teaching geography ?
(A) feuEea (A) Dramatization
(B) 9w (B) Project
(C) agieend (C) Observation
(D) 698 aBgAa (D) Field trip
C (68)
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144, 9699 AR969 6aea 2GR Oig
@7
(A) QIO g9«
(B) &<
(C) A998
(D) <&

145. QOQ U6Q9Q VNG 6ol
QUAIRAIER |

(A) IS AL SR

(B) RIGSIESI8 BRAIG

(C) <N @wIg

(D) DA G FRINY

146. 6Q6C T9Q ATYD YAIRAN
QYRR 68 ?

(A) QNG 2AATR

(B) auge

C) ewge

(D) eese@ae

147. Qe AU 6QAC QERIA SAIQINEa 9

R ARDER FFA 19 IRIQ §EL 7
(A) ooy zIIGe

(B) @qesi

C) cdlaide

(D) @1em

144,

145.

146.

147.

(69)

prepp

Your Persenal Exams Guide

OTET -P-ll

Find the odd one out in respect of
geography teaching.

(A) Textbook
(B) Globe
(C) Map

(D) Charts

Uttar Pradesh’s climate can be referred
as

(A) Humid subtropical climate
(B) Temperate climate

(C) Dry climate

(D) Tropical wet climate

Which is the largest uranium producing
country in the world ?

(A) USA
(B) India
(C) Kazakhstan
(D) Uzbekistan

Which of the following is not a type of

story in story-telling method of teaching
history ?

(A) True story
(B) Legends
(C) Myth
(D) Biography
(Continued)
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148. T6qI9 AP 696 QIF A6WOF LBRIQ

dAI0F ANGET ANEAY ST FEQIER
QYD 6 NG ?

(A) G6a Qi
(B) Qqa aQy

(C) qeQ
(D) <dql

149. 3F ARG 696 20EY BRAIER 6TIAI
@ ?

(A) SIS ATOALTE 2N

(B) 91214 A1g Od6AIS AaEy

(C) 980 FGY B gF A

(D) eogwee gaItel aaey

2RAIGEY IR RIS 66 GeNE OQ

6% ?

(A) <219 Q) G T4 FI08 Feau
=l (=

(B) 9860 @F| ASIQ QR OLE

(C) 9g6Q eMgaieq gad fia G8e
QRSN EIgAT TR

(D) 4g6a @8 R RAIeS TR
@l QO6QI6 @89l Free gAd
QEIAIREIN]

150.

148.

149.

150.
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Which of the following is not a space
symbol which helps us to draw time line

in teaching history ?

(A) Location
(B) Duration
(C) Distance

(D) Description

Which of the following forests is not
tound in Odisha ?

(A) Tropical semi evergreen forest
(B) Tropical wet deciduous forest
(C) Tropical thom and shrub forest
(D) Coastal tidal forest

Which of the following statements is not
true for sanctuary ?

(A) Cattle grazing is prohibited within

its boundary
(B)
(C)

It has less security features

It allows various programmes for
protection of the wildlife

(D) It allows the land to be used for
certain beneficial purposes

(70)
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